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SKennukauus NoMeLLeHUNA.

OKCNMKauma NoMeLLEeHiA.

IImommans O6masa

ITnormams O6rmas

HammveHoBaHne TIOMEI., TIIOIa b HanmeHoBarme TIOMETII. , TIIOIaib
M2 TIOMeTII., M? M2 TIOMETI., M?
KeapTupa Ne49 MomelyeHre V (MecTa 0bLero nonb3oBaHWs)
1 Kopupop 3.6 1 JlecTHNYHasA kneTka 10.2
2 |KyxHa-ctonosag 15.7 2 |Xonn 11.8
3 |CnarnbHg 9.4 3 |Kopugop 40.4 100.6
4 |Cly 36 4 |Kopugop 295
5 |BarnkoH (k=1/k=0,3) 32/1.0 | 355/333 5  |IlndroBon xonn 8.7
KeapTupa Ne50 KeapTupa Ned1
1 |Kopugop 36 1 |Kopugop 39
2 |Gl 3.6 2 |Cy 37 _—
3 |CnanbHsa 93 3 |Xwunag 10.7
4 |KyxHa-ctonosag 15.7 4 |KyxHa-Huwa 5.0
5 |BankoH (k=1/k=0,3) 3.1/0.9 35.3/33.1 5 |BankoH (k=1/k=0,3) 3.1/0.9 | 26.4/24.2
KeapTupa Ne51 KeapTupa Ned
1 |Kopugop 6.3 1 |Kopugop 38
2 |Cly 38 2 |Kyxua-ctonosas 18.6
3 |CnanbHg 10.6 3 |CnanbHg 1143 e
4 |Cnanbha 87 4 |Cly 4.0
5 KyxHg-cTonoBag 18.4 6 |bankoH (k=1/k=0,3) 5015 42.7/39.2
6 BankoH (k=1/k=0,3) 5.0/1.5 52.8/49.3 KeapTupa Ned3
KeapTupa Ne52 1 Kopugop 3.8
1 Kopugop 6.3 2 |Cly 4.0 577
2  |KyxHa-ctonosag 18.3 3 CnanbHa 11.3
3 |Cnanbhga 9.0 4 |KyxHa-cTonosas 18.6
4 |CnanbHs 10.3 5 |BankoH (k=1/k=0,3) 2.8/0.8 | 40.5/38.5
5 |Cly 3.9 KeapTupa Ned4
6 |Bankon (k=1/k=0,3) 4915 | 52.7/49.3 1 Kopupop 6.5
KeapTupa Ne53 2 |lappepobHas 33
1 |Kopugop 38 3 |Gy 439 58.7
2 |Kyxua-ctonosas 18.7 4 |CnanbHa 12.3
3 |CnanbHa 11.3 5 |Cnanbhs 1.8
4 |Cly 4.0 6 |KyxHa-cTonosas 20.5
5  |BankoH (k=1/k=0,3) 43113 | 42.1/39.1 7 |BankoH (k=1/k=0,3) 3511 | 62.2/59.8
KeapTupa Ne54 KeapTupa Ned5
1 [Kopvaop 12 1 |Kopugop 6.2
2 — 105 2 KyxHg-cTonoBag 185
3 KyxHsA-HULA 50 3 CnanbHsa 9.0 48.0
4 Cly 34 4 |CnanbHa 10.4
5 |Banton (=1/k=0,3) 3.6/1.1 | 26.7/242 5 |Oly 39
6 |BankoH (k=1/k=0,3) 51M1.5 | 53.1/49.5
KeapTupa Ned6
1 |Kopugop 3.8
2 |Cly 4.0
37.7
3 |CnanbHg 1.3
4 |KyxHa-cTonosas 18.6
5 |BankoH (k=1/k=0,3) 4.4/1.3 | 42.1/39.0
KeapTupa Ned7
1 |Kopugop 3.6
2 KyxHg-cTonoBag 15.6
3 |CnanbHsa 9.4 22
4 |Cly 3.6
5 |Mopxus (k=1/k=0,5) 2.5/1.3 | 34.7/335
KeapTupa Ned8
1 |Kopugop 36
2 |Cly 36
3 |CnanbHsa 9.4 523
4 KyxHa-cTonosas 15.7
5

BankoH (k=1/k=0,3)

3.1/0.9 | 35.4/33.2
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